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Mineral Based Industries

ndia produces about 33 million tons of steel every year even though
per capita consumption of steel is very low i.e. 32 kg. Give reason. (1)

Why are most of the steel plants located in Chotanagpur region? (1)
Write any two important characteristics of aluminium. (1)
What is FDI ? (1)
Briefly explain the contribution of Information Technology Industry. (3)
India is an important iron and steel producing country in the world,

Yet we are not able to perform to our full potential. Analyse. (3)

How are integrated steel plants different from mini steel plants? What
problems does the industry face? What are the recent developments
that have led to a rise in the production capacity? (5)
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